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When solving the ODE

using the variation of parameters method you will get

The value of the Wronskian w, is

lLw, =e 3

2w, = —ze 9
3wy = —ze 3%
4w =e 0

3
v

The value of the Wronskian ws is

Lwy=e32
2wy = —ze 3%
3wy = —ze 0%
4wy =e 0%

1
v

The particular solution g5 is

1yp=—£:z o

Z.y,,z%ie 3z

3-yP:_I_ﬁ25 =

Ayp= e
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When using the undetermined coefficients method to solve the ODE

the appropriate form of the particular solution yp, is?

1y, = Ae ** + Bsinz
2.y, = Ae ** + Bsinz + Ccosz
3.y, = Aze * 4 Bsinz
4.y, = Ae ® + Bsinz + Ccosc
5.yp = Azwe ** + Bsinz + Ccosx

Y +6y +Oy=e

‘Write the number that corresponds to the correct answer

Y +8y +12y=e  sinz

Select the number that corresponds to the correct answer
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